
Chemical Equilibrium     Name:________________ Date:___________ 

Write the equilibrium expression (K) for the following reactions: 

 

 

1. 2 NO2 (g)  1 N2O4 (g)  _____________________ 

 

 

                                                           2:   1 H2 (g) + 1 I2 (g)   2 HI (g)  _____________________ 

 

 

3. 1 C (s) + 1 H2O (g)   1 CO (g) + 1 H2 (g)  _____________________ 

 

 

                                     4:   1 Sn (s) + 2 CO2 (g)   1 SnO2 (g) + 2 CO (g)  _____________________ 

 

 

5. 2 HBr (g)   1 H2 (g) + 1 Br2 (l)  _____________________ 

 

 

                                  6:   1 Fe (s) + 1 H2O (g)   1 FeO (s) + 1 H2 (g)  _____________________ 

 

Balance each equation and then write the equilibrium expression (K) for each reaction: 

 

 

1. ____ O3 (g)       ____ O2 (g)  _____________________ 

 

 

2. ____ NO (g) + ____ Cl2 (g)       ____ NOCl (g)  _____________________ 

 

 

3. ____ CO (g)       ____ C (s) + ____ O2 (g)  _____________________ 

 

 

4. ____ SO3 (g)       ____ SO2 (g) + ____ O2 (g)  _____________________ 

 

 

5. ____ HCl (g) + ____ O2 (g)       ____ H2O (l) + ____ Cl2 (g)  _____________________ 

 

 

6. ____ Sb2S3 (s) + ____ H2 (g)       ____ Sb (s) + ____ H2S (g)  _____________________ 


